1.

Oha B7] § dd4s BF A8 A2?

H7]
@ a O 3x+b © -3
® ba+5 @ x*-1

0,60 006 006 ®6,6

® 6,0




1 @ 3a+4

O x*-3x

1
® -+3
X

@ y+3y3 -4



? (A 27H)

B!

=

R
M
el
S
olJ
o8

olig
Nfo

ojn

=4x+8

1
2

@ (~4x+8)+(-4)=-x-2

®

@ (2x+4)=+

2x—3

(6x-9)

— |

@ (9x+3)+3=3x+9

® (12x—9)><§:4x—3



@ —-a?b?, a®b? ® 3x%y, —x3%y

1
2 1.2
y,g)’

1
@ =, bx

@

@ —7)’» - 7y



5. A=x-1,B=-2x+1< W, A-(B-24)

@ 6x+7 @ x-3

@ 5x-4 ® 5x+10



6. oW Aol —y+ 2y B wlof sh © Este] At 3x- 4y 7
w]9lct. o uf, vk AAkg 4.9

D 5x+ 7y @ —5x+ 8y ® 5x -8y

@ 3x+8y ® 3x-8y



©9

Ton

P4 48 17 - 2x oA BE A5

1ol
e}

o

7.

® 4

@ 2



@ 3a-4b+1
1
@ ax(—§b)+1



3
x3—4x+6 & 24, 0|2}

9.

® A5

5
<F

ol

® Al gho] &



® 4x-6



@ 0.2x2 +x

D 6x+5
@_

+1



D 2x+3-(2x-7)
® 3x>-5x+5x-11

1
@ 5)(2 —Tx— 0.7)(2



13. b= F 7712 &7 FAA A2

H7]
@ 2x © —2xy © -y
® 2y? @ 3x2 ® —%x

0,60 206 006 ®6,6e 066



—0, Aa
3

@ o=3a, A=7

a, A =4b

O =

1

4

@ o=3, 2

@ o=b A=a
O =



15. o= F 73712 vt=A FA2 A2

@O —4x, x*
X, X @ x, - @x2,y2

@ x%y, xy? ® x, —-x

] o= | —



A 2ab, - 3ab © x2%, 2x © x2, 4x?
® x?, y? @ 3x, by ® 7a, 2a
® © ONENC)
® O, 06 ONONONG)

®9,0,6,e.6



olJ
S
KA

©) §x2, xy, x2y

@ b5x, 4x, x
® a, b, 100c

w

10
11

1 2
b 3Z7

4

4
@ gaQ, a2, ab

@



+1

— =

@ -a®>+1

D1

® 1-x-x2

@ 4-a






Al x? = 6x+ 1 oA x* 9

3

o tigh o

X

20.

,a, b, ¢ o Fge

Mg et @

Z

4]

L
__OO

=

@a=1b=-6,c=2

Da=1b=-6,c=1

@ a=1hb=1,c=2

@a=1b=1,c=1

®a=1b=1,c=3



+4



ol
RS

L
__OO

1o

— |

No

olp

X

@ 5z

® 8xy

@ -8



-7, 11

@ 4x3, 3x2

@ 5x, —x

® 2xy%, —xy?

@ y*, —y?



o
=

24. ¢

® 0.2x

@ 7 @ 8x3 @ b5y



ol

KA

® x3,y3

@ 3x,x%
® 7,7a

@ —a,-b

@ 2x,-5x



26. o8 27] F ERG7IE Ao AL BE DY

(1]
H7]
@ —4x?, x4 © ab,bc
® -1,9 ® 3z,-z

0.6 2006 0006 ®oe 066



S
e
SR
< o)
— | _
-0 g
TN
| S
Q0 @
S
o
S R
)
N I
— ™ o MO
LRI
S - -
| QI I™m
Q@ © ©



28. o T x ol TRF dApA Q1 A0
2 6
D x*-2-(2x-7) @;+(_5)
® —x%—4x—11+4x @ 0-x2—x+3+x

T 4 5
® TOX x—=0.7x



20. o F AL BE D2 ALY

@ 0.5x+ 1 o *=y+i e =
2 2x
@ x(x+1) @ -2x% +x ® 2x-3y+1
O, 0 6 @ 6,0, 6
® 0,66 @ e, 0,6

©® 9,0,6,8,.0



o
=

=

30.

@ y? ® 242

®2y






32. b YAHAA L A ERIA AL BE QAW

1 3 1
-+ Za2 - za + 7.5ab 4+ 1000a — 900D + 1
a

® 1A @ 2 7| @ 37 @ 4 7\ ® 5 7



@ 5y3

@ 8x3y?

@ -y



olJ

KA

@ XS, x3y3

@ 2x,x2

® 7,a

® -a,—z

@ 2x,-5x



35. th B % ERE7IE Aol AL B 1Ew?

(w11

H7]

@D —4xt, x4 © ab,abc
24

®© R ® 3z,-a

0.6 200 006 ®oe 066



36. o= Y7 eHtEA F Ae BF a2w?

D -5x, 8x @ 3xy, -y ® 7000z, z
@ —x2, -1 ® 1,2



o
=

=

37.

® -1

@ 11y

N A

@ Ty?

® -5xy



38. oA 3x+2y -5 o tisto] ] Mp= a, x o Alg= b, A
ct S, a+b+c o H2?

@ -2 @ -1 ® 0 @ 1 ® 2



39.

oA —x2 —8x -5 o tot] A5 a, x o AFE b, F5EE c 2
S, a-b+cY @27

@ 2 @ 3 ® 4 @ 5 ® 6



40.

o e
243004 x O ALE g, y? O A2 b, AR ¢ Bt
2

abe | #t& F-o1H?

O -12 @ -6 ® = @ 3 ® 6



41.

(1]

H7]

@ 2x-1 ©1-x+=x ©® -x24+x-1
@ a*-a @ 5-4y

0.6 2206 0006 ®oo6e 060



42. ohe AN DAL BE T2

D 2x+3 @ x*+5x-1 ® 3y-7

@ 3a’+a-7 ® 5b-10



43. 2x -5+ |=-3x+4 oA ¥ ghof] Yuke 229

O -x+3 @ -5x+3 ® -5x

@ x-9 ® -5x+9



44. oW Aol A a2 B Wojof & A& ALl HHHY 30+ 55 7
w9let. o] W, £ A4rE A

D -a+5b @ a+3b ® a+9b

@ 2a+3b ® 4a-2b






2
—— -x

-5 oA
o, a+b+c 2 &

X

A
=

L,
__oo

o}

46.

2

af?

_ZF_

o
=

5}
=

otn

c



